N 2RSS
Y XS FOUME HASX (LSS /LLHY)
el AlEOEE 29 (el
x 5 T Ofl & oK T Ol Ay =
SA-BH--SAEAH) - NEAY - BES (FE o) (1= o) s pmE=e
e 268,922 234,787 34,135
AR FUMg BT (L33 /Lutdy) 185,770 147,440 38,330
ANAHFHSEY =23 144,170 117,440 26,730
FHEIXA 61,440 61,440 0
202 044l 1,380 1,380 0
01 =LHOHI 1,380 1,380 0
2 0f & 1,380 1,380 0
O HMIATA HXI0HYE 2ASH 0t
60,0002 +5& *43] 1,200
OxZ3dEFHS bl 20,0002 *3& *33 180
301 et243 60,060 60,060 0
06 S& 0% -2 58,560 58,560 0
20 & 58,560 58,560 0
osd Jlas+¢< 200,000 17 »12& 40,800
Osd d0= 200,000 x17H »23] 6,800
Os% 3o F4&s+g
20,000 178 22| »12& 8,160
ogty s 25,0003 x56 8 *232] 2,800
09 AMBIZE = 1,500 1,500 0
2 0f & 1,500 1,500 0
OAZTUS MU S 4T 24
10,0002 x25& *33l 750
OAHZX AL & FLATN 2Y
10,0003 x25& *33] 750
X SaALS (FRIE0{0l &) 60,000 56,000 4,000
201 ZgEr2d 25,000 51,000 A 26,000
01 Ar® 22l 15,000 6,000 9,000
2 0] & 15,000 6,000 9,000
Ox=xs UISd&E MR 1,500,000 *43] 6,000
Octots= Ot 29 4,000,000 14| 4,000
OZZ0t2 daaele UlbtAl 22
5,000,000%14] 5,000
03 A=2gH 10,000 45,000 235,000
2 01l & 10,000 45,000 A.35,000
OELE0l= €20td 23  10,000,0003 *14] 10,000
401 AlZHIZ 20 35,000 5,000 30,000
01 AlZHI 35,000 5,000 30,000
20l & 35,000 5,000 30,000
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fM 2FS
I RS FULE HASH (LSS T/LUHY)
el 20Xl € 272 =AY (ol & ™
% 3 s Off &4 & E T Off At A =
SA-ZFH-S2A(3AH) - HEMNY - BES (FE o) (1= o) Blus2
H20AXel & A2 =AMLY 41,600 30,000 11,600
M= HAALSE 30,000 30,000 0
401 AIEBIZ 20U 30,000 30,000 0
01 AI&EHI 30,000 30,000 0
=0l & 30,000 30,000 0
OS40l2 MAASEXS ZH At
10,000, 0003 * 14 10,000
O4x2 25 2@ oA 20,000,000 14 20,000
A2 AEA (FEIF00 4 11,600 0 11,600
401 AEHIL =2 11,600 0 11,600
01 AI&ZHI 11,600 0 11,600
20] &t 11,600 0 11,600
OMa3= 2tZ FHAE 11,600, 0003 * 14 11,600
HH2AIH(=RS)(IIE/IIE) 83,152 87,347 A4,195
elsE 2l 18,992 20,487 A 1,495
olgi =gl 18,992 20,487 A 1,495
101 el2dl 18,992 20,487 A 1,495
01 2= 18,992 20,487 A1,495
2 0f & 18,992 20,487 1,495
OAZtAZ 25 10,2092 «7H*17Al 2tx 123 14,707
OAe2Rs (M2 Y)
10,2993 x2& »4 Al 2+ +52& 4,285
Jl=3Hl 64,160 66,860 2,700
=3l 64,160 66,860 2,700
201 g2 d 32,400 32,400 0
01 At22elbl 20,400 20,400 0
20l & 20,400 20,400 0
OAREE 7l 30,0002 «9&H 270
o224 25 74l 100,000& =12 1,200
OgeFN A7 20,0003 «62 120
OANEEE &% HMA 100,000 «10H*122 1,200
O=2lde s&e 3l 500,000 * 14| 500
oggazd as) 428 7Y
240,000& *32 720
O=NEE4dT & MHsd 30,0002 «15% 450
Onga #dNH st
50,000 *3& *23| 300
OYPFX #ZEE S 7Y 6,000&+100% 600
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2N =S
M. HHSHBH(Z=2S)(IJIEH/IIE
Ce: I3l (e &
SN BB S(BH) - MBAY - BaS o @(ijf;ﬁ% HRE2
OY2ZAE D20 MA 20,0008 «4Z 23] 160
Opigol HOlg SEHE 220083005 660
OgREx S04
8,000 x8H x5 x12& 3,840
OjrE2R=sE 10,0002 x4 2+ 12& 480
OAIR 4 g4 A EHH| 3,000& 30l *23] 180
O8I 8 91z 220,000& x12& 2,640
O= A eXtE 200,000& «12& 2,400
OsSd2E & I H & 400,000 *13] 400
O= AR 72 (A4) 22,000 *652F A 1,430
Ongle EH 8 ¢ 250,000& *3JH *x33| 2,250
OF0IHEH HA St&EA ARE 22
100, 000& *2& *x33] 600
02 33294l 12,000 12,000 0
= 0ff A 12,000 12,000 0
Odtol=% AtEE 75,000& x12& 900
ORERS 190, 000& *12& 2,280
O&IINEZ 600,000& x12& 7,200
OFUAH A2 =44 678,000& *23| 1,356
Ooste= 22,0003 ~12& 264
202 0| 21,600 24,300 N 2,700
02 XY 21,600 24,300 A 2,700
= 0ff & 21,600 24,300 A2,700
OE AN 225,000& x8H x12& 21,600
203 Y= 10, 160 10, 160 0
01 JIASILR=XH| 7,700 7,700 0
= 0ff & 7,700 7,700 0
Oxxs% 7,700,000 x1H 7,700
02 HEINAER=XH| 360 360 0
= 0ff &F 360 360 0
O J I R =X 40,000& x9H 360
04 PASIYRE=XH| 2,100 2,100 0
= 0ff & 2,100 2,100 0
ORNMSIIRF=XY| 175,000& = 12& 2,100
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